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1. (a) “Marketing is no more a function of marketing
department only.” Explain the statement and also discuss

the nature and importance of marketing. (8)

(b) “To be successful a marketer needs to judiciously mix

all the elements of marketing?” Briefly explain those

elements giving examples. @)
OR
(a) Explain the evolution of marketing concepts. (8)

(b) Why is it necessary to understand marketing
environment? Explain the demographic and economic

environmental factors that affect the marketing
decisions. (7)
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2. (a) Explain the various stages in consumer buying process.

Do consumers need to pass through all stages while
buying all the products? Give reasons in support of your
answer. : (8)

(b) What is meant by. product positioning? Briefly discuss

the major bases of positioning a product. (7)
OR

(a) What is market segmentation? Suggest and explain
suitable bases to segment market for the following
products. (8)

(1) Car

(i1)) Cosmetics

(b) Explain the cultural and social factors affecting

consumer buying behaviour. (7)
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3. (a) Explain Product Life Cycle (PLC) with the help of

diagram. What strategies will a marketer use in the
maturity stage of PLC of a product? (8)

(b) Explain the following :
(1) Psychological Pricing
(i1) Discounts and Rebates @)

OR

(a
2) Explain the difference between individual branding and

umbrella
e branding giving examples. Discuss their
1dvantages and disadvantages, (&)

a e
s between sklmmmg the-cream and
Peilirali n ’) Cl

, ‘ ng. In which situations these are most

(7)
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(a) Explain the communication process used in the promotion

of goods and services. (8)

(b) Briefly explain the various elements of distribution

logistics. (7)
OR

(a) Discuss the major types of non-store based retailing in

India giving examples. (8)

(b) Briefly explain the various promotional tools used by

the modern day marketer. (7)
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5. Write short notes on any three of the following :

(1) Direct Marketing

(i) Green Marketing

(iii) Push and Pull strategies of Promotion

(iv) Functions of packaging and iabelling | (5,5,5)
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1. (a) Explain the traditional methods of evaluating long term

projects. '
W AT R | 4

(b) A company is planning to replace a machine which is
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required for 4 more years. Its book value is Rs
1,60,000 and it will be fully depreciated at the end of
2 years. It will generate revenue of Rs 5,20,000 per
year for 4 years and incur expenses of Rs. 3,80,000
per year. Its salvage value now is Rs 1,20,000 which
will become zero after 4 years. It can be replaced by
a machine costing Rs 4,80,000. The new machine is
expected to generate revenue of Rs 9,20,000 per year
and incur annual expenses of Rs 5,80,000. Additional
working capital of Rs 2,00,000 will be required if new
machine is bought. Depreciation on new machine will
be charged at the rate of Rs 80,000 per year to make
its book value equal to its expected salvage value of

Rs 1,60,000 at the end of the fourth year. Tax rate for

the company is 30% and cost of capital is 15%. Advise

the company about the replacement.

s FT T A B TR T Gedl ¢ rae
4 IR o @ o ST B | A J& I 1,60,000
o ¥ ok 3@ 2 ¥ s wfa: gwefa & far
AT | TE 4 9 & SR 5,20,000 Fo Yryay Tored UaTl
F40 3T =9 W 3,80,000 To Ffaas @ Q| §HD!

2
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(a)

Framer 7w 1,20,000 ®6 & S fF 4 a9 @@ LA A
ST | 34 4,80,000 To AT aTeT H E1T Firednad
forar o7 g@ar &1 4 wsiw @ ufq a9 9,20,000 FC
T T B &l e & SR 39 9 5,80,000 TO
it @ emwr) afr 9% weiE @Ol S &
9,00,000 Fo F¥ faT Toft &1 FAHAT M | TE
T W TR 80,000 To WAY & W H TIHT
ST arfes Y aY & Sid H 3qHr §Kd I7d 1,60,000
Fo FIEIRET ed & SUEX B &t SIS & A1 | HIT
Y H W 30% AR Yol & AT 15% © | HIAT B

g & R H Wyl T 11
Or (/gan) -
Certainty equivalent approach is theoretically superior

to the Risk adjusted discount rate. Do you agree?

Faaar aqe dSias €9 § SiRgq aEEiG 922
WY IO9 T R AT GeAd B7? 4

(b) A company is considering a proposal for production

of a new product. The company expects to sell 1,00,000
units of the new product each year at a selling price of
Rs 5 per unit. Variable cost will be Rs 2 per unit.
Regardless of the level of production, the company
will incur cash cost of Rs. 50,000 per year if project is
undertaken. The machine for making of the product

will cost Rs. 5,00,000 and can be sold for Rs 60.000

3 PTO.
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after the end of its life of 5 years. Additional working
capital required will be Rs 50,000. Overhead cost
allocated to the new product will be Rs. 24,000 per
year. Tax rate is 30% and cost of capital for the
company is 15%. The company charges depreciation
at 25% of the written down value. Should the company

buy the new machine?

Teh HUHl Teh AU IAE & SR & J&d W fmr &t
TE T | HIA H T AT AT B 1,00,000 IS why o
ST I ' IR swe! fomrm Fma 5 Bo wiy gfve
T | IRadt arE 2 $o Uiy ge Bnfl | SaET & w)
W & T & BT HI H 50,000 To Uiy aHf Ay
AT @ BT g, Al 39 gk @ & forar smar
¥ | I P B A B BET 5,00,000 Fo BT
@T{%5W%Gﬁwaﬁwﬁ%meo,00060ﬁ
AT S G| StfaRed wrddia IS 50,000 Fo b
T BNl | SuRemd @rm, S U SdE WS,
94,000 To gferas BNt | T & W 30% & AR HIA &
o Goft & @ 15% 1 HI 928 @id B 25%
T HEd o1 FUA B AE W @l
Bl 11

(a) Retained earnings are free of cost. Do you agree?

yfaenRa o v ged ¥ owm omw gewd &7 4

4
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(b) Following is the capital structure of XYZ Ltd.:
Equity share capital

(face value Rs. 10 each) Rs. 15,00,000
8% Debentures (face value Rs 100) Rs. 4,00,000
12% Preference shares (face value Rs. 100) Rs. 4,00,000
10% Term loan Rs. 7,00,000
The company paid a dividend of Rs. 3 per share last
year. The dividends are expected to grow at 5% per
annum. Tax rate applicable to the company is 30%.
All securities are traded in the capital market and the

recent market prices are:

Equity Shares Rs. 15
Debentures Rs. 80
Preference Shares Rs. 100

Find out the weighted average cost of capital using

book value weights and market value weights.

XYZ fofids & Gofm s frfafaa &

o
$fadl R Tofr (sifha g 10 To uR)  15,00,000
8% fd==r (3ifha gw7 100 Bo ¥R 4,00,000

12% A A (3BT T 100 Fo ufy) 4,00,000
10% afee T 7,00,000
30,00,000

5 P.T.O.



FOAT 9 s avf 3 o Ui AT AT @r o | amaiyr
5% Ui & T F TG Bl S & | B W A F

W 30% © | G gfaeiferdl &1 it IR § =R
BT ¥ SR ol 39 I 36 UEK o

RS IR 15 To
IECEC 80 To
A YR 100 Bo

H IR AT ARG S b | 11
Or (3vran)

(a) Profit maximisation is a better criterion than wealth
maximisation. Do you agree? Explain.
T AT, o AT § dea e
¥\ W T HeAd o7 AT HINT | 4
(b) A company earns a profit of Rs. 3,00,000 per annum

after meeting its interest liability of Rs. 1,20,000 on 12%
debentures. The tax rate is 30%. The number of equity
shares of Rs. 10 each is 80,000 and retained earnings
amount to Rs. 12,00,000. The company proposes to take
up an expansion scheme for which a sum of Rs. 4,00,000
is required. It is anticipated that after expansion, the
company will be able to achieve the same return on
investment as at present. The funds required for expansion

can be raised either through debt at the rate of 12% or by

issuing equity shares at par. You are required to:

7767 6
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(i.) Compute the earning per share, if:

.* the additional funds were raised as debt

* the additional funds were raised by issue of e(iuity

shares -

(ii) Advise the company as to which source of finance

is preferable.
TF FON 12% @ e W 1,20,000 o H T
TR B QT HA B TG 3,00,000 Fo Wiy T
BT ¥ 1 BT W W 30% T 1 10 To AN el AT
I HE@AT 80,000 ¥ ST TITENRA ST &t T 12,00,000
%o ¥| Bl FIER IeFT B A9 & TR @A ©
s T 4,00,000 To PV STET BN | TR © fH
freaR & & 9@ S Ay W IdA0 & gfdwd g
HE A & St R oreft are Y W B R
& T o @ 12% B W F KT & T H G R
I GHhaT T AT TR WSS QAT IR 6 |
aE wETE
) gf AR T H AR Al

*  JifaRed &9 & HOT & ®1 § g fhar Sqy

+  SffaRad o ® S AW A0 FH T

forar ST
(i) IO @ RS Re W A fawim || &
TN & gare AR 11
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(a) Explain the relevance of time value of money ip
financial decision making.
fclia fofa o3 & g1 & W g @ welear @y
T HIT | 4
(b) Two companies X and Y belong to the same risk |

. |
class. They have everything in common except that |

firm Y has 12.5% debentures of Rs. 12,00,000. Follo- |

wing information about the two firms is available to “

|
you: ,
Particulars X Y

Net operating income  Rs. 3,00,000 Rs. 3,00,000 |

12.5% Debentures - Rs. 12,00,000
Equity Capitalization
Rate . 0.15 0.16 |

\
l

Calculate the value of two firms and explain how under

i
Modigliani-Miller approach an investor who owns 10% |

equity shares of the overvalued firm will be better off |

switching his holding to the other firm. Also explain |

|
|

when arbitrage process will come to an end.

& HHEl X SR Y, 999 SiRew ar @it # ot €1
ST Tl O T €, daw 39 9 & sisal 6 Y
& U 12,00,000 To B 12% A= ¥ St Al
it & ar ¥ Pt qed & T
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o X Y

Faa g o 3,00,000 o 3,00,000 To
12.5% Ra=R - 12,00,000 To
el YoTertor aX 0.15 0.16

T BT T e URafera Ty ST e iy

Rras ur aftrged At & & 10% $RAE O

Y& BT AR ' (O BfeST @S BH | o[ <

qrg & e i 6 snfdgsr ufthar & wara el

T 11
Or (37eam)

(a) Discuss the main decisions which are taken in financial

. management.
Prfie weier & foro o A ger R @ REe
HIRTT | | 4
(b) The capital structure of Greaves Ltd consists of the
following:
Equity shares of Rs 10 each Rs. 40,00,000
10% Preference shares of Rs 100 each ~ Rs. 30,00,000

12% Secured Debentures of Rs 100 each Rs. 20,00,000

The net sales for the company were Rs 1.6 Crores. EBIT

_is estimated to be 10% of sales. Corporate tax rate is
40%. Fixed cost is estimated to be Rs 50,00,000.

7767 , 9 P.T.O.



(i) Draw the Income Statement of Greaves Ltd.

(ii) Calculate the operating and financial leverages.

(iii) What will be the % change in EPS if EBIT rises by
10%? What will be the new EPS?

Ao fofies & ot damr & frefefed anfire &
R 9 10 o AW
10% SAfME 7% 100 Bo T 30,00,000 To
12% FU&T fEd=aX 100 $o a@  20,00,000 To

®AT B Fraw T 16m3a$r€?r|EBlTaigm={az

fashl 7 10% B 1 S0 0 B ® 40% ¥ Tl o

STIATA: 50,00,000 To & ¥

() d=7 ffies &1 o s R B

(i) T R fasfra daot & wRea @

(ii)EPS ¥ % uRad™ @4 @ af® EBIT &% aad
10% ¢ S 27 T EPS FT 2ry 11

40,00,000 Ho

4. (a) Explain the Baumol’s model of cash management.

mm%mmﬁwmn 4

(b) A company has an annual sale of Rs. 10 lakhs and

7767

average collection period is 45 days. The company- is

considering shift in its credit policy. Followmg
information is available:

Variable cost is 60% of sales. Fixed cost is Rs. 2 lakhs
per annum. Current bad debts are 19, Required return
on investment is 20%.

16
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The following are the estimates of different credit

policies:
Credit Average Increase in Bad
policy  Collection Period Sales debts
A 60 days Rs 50,000 2%
B 75 days Rs 80,000 3%
C 85 days Rs 1,00,000 4%

Determine which credit policy the company should

adopt.

UF FET F AMNE N 10 @ & IR SEd WIS
arafer 45 R ¥ ®u SuAr Bfse Aifq # SEwE
FA W AR &= @ ¥ Fefaied gEad Suds
5

qfRadt ana bl @ 60% & | Wl Yrd 2 W Bo
gidad ¥\ 9 AWM w9 1% o1 Fag W) oaied
gfawe 20% & fafy= sRe difvRal & e
frffEa &

Rt JAaa e et # e

hise Iater It Ea|
A 60 &= 50,000 To 2%
B 75 &t 80,000 To 3%
C 85 fe= 1,00,000 o 4%

HUr Hr foeg e diferdt &1 srgAET =Ry, fMaiRa
FHT | 1

. P.TO.



Or (m)

IJART I ENASIRE] 25,00,000 %o
(a) Discuss various sources of working capital finance. G| T AT G| IR 28,00,000 o
mﬂﬁ@ﬁﬁ%ﬁﬁ?@ﬁaﬁmwm]4' Ry @ g 30,00,000 To
(b) From the following information calculate: el ey 36,00,000 Lo
(1) The operating cycle in days. Assume 360 days in a | g <
year. T Y 2,50,000 o
(i) The amount of working capital required. | 1 gfa 9 1,50,000 %o
Annual consumption of raw material Rs. 15,00,000 TR 91 3,50,000 %o
Total puréhases Rs. 16,00,000 Maa SeiRar 3,50,000 o
Total cost of production Rs. 25,00,000 A ARl . 2,50,000 B0
Total cost of goods sold Rs. 28,00,000 11
Total cost of sales Rs. 30,00,000 5. (a) Explain the Gordon’s Model of relevance of dividend.
Total sales Rs. 36,00,000 I o1 refehar & TS Aisw &l AT ST |

Average stock (b) Ashley International started a year ago with an equity

Raw material Rs. 2,50,000 capital of Rs 20,00,000. Other relevant details are given

Work in progress Rs. 1,50,600 below:

Finished goods Rs. 3,50,000 Number of outstanding shares 20,000
Average Debtors ' Rs. 3,50,000 Earnings of the company Rs. 2,00,000
Average Creditors Rs. 2,50,000 Dividend paid Rs. 1,50,000
F=tafEa Rt ¥ e St _ P/E ratio 12.5
(i) FETa @6 R §) 1 9 F 360 R A (i) What is the dividend payout ratio of the company?
(i) FEFT GO B AEvEE TR What is the market price of the share at this payout
F=d A @ AINE @ua 15,00,000 o ratio? Is the dividend payout ratio optimal according
Fa @l 16,00,000 T | to Walter’s model?

P.T.O.
7767
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(i) What is the P/E ratio at which dividend payout ratio |

will have no effect on value of share?

(111)) What will be your decision if P/E ratio is 8?

@m@m%a‘rmwﬁmooooomaﬁéﬁaﬁ»
@%gﬁma&ﬁlmwmﬁ%ﬁmr&%

Ti—
THET JAU W F& 20,000
HT Bl ST 2,00,000 To
T ATHIST 1,50,000 To
P/E 3TUTq 12.5

(i) YT BT AT YA T &1 &7 3H YIS
U W IR FT TOR GeT 1 §? A
Hisd @ SATER AT TASS I T 87
(i) o7& P/E STUTT 4T & oI WX ATHIST YIS ST
& AW & I W SIS TG &l EM?
(sii) et Frofa @/ @mm Ak P/E SO 8 B7 11
Or (amar)
(a) What is stock dividend? What is its rationale?
Wit A HT BT &7 IqH qpaR F1 57 4
(b) A company has a capital of Rs. 100 lakhs with shares
of Rs. 100 each. The shares are currently quoted at par
in the market. The company is planning to declare a

dividend of Rs. 6 per share at the end of current financial

7767 i4
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year which has just started. The rate of capitalization

for the risk class to which the company belongs is 10%.

Using the MM Approach answer the following:

(i) Calculate the price of the share at the end of year if:
(1) Dividend is declared.

2) Dividend is not declared.

(i) Calculate the number of shares to be issued
assuming the company pays dividend, has net
iﬁcome of Rs. 10 lakhs and makes new investment
of Rs. 20 lakhs during the year.

(iii) Find out the value of the firm if:

(1) Dividend is declared.

© (2) Dividend is not declared.

u% FUET # GO 100 Fo A WA H I 100 W@
Fo T & IR IR H TR W e W@ ¥ 1 U A
fref s, o ot gIE g9 ¥, T wIRa W6 o id
SRR TS B B @ Ao S W 1w o
S @ & ot & g Yol W 10% T 1 MM
SURT T VAR e Fretiad B Sa A

(i) o R T SR & EE F1 IRbw B

gfe:

P.TO:



(1) i e o foam mr @
~ (2) @iyt =\t & for maw B |
(ii)ugwﬁsm#MTﬁm%,mﬁaa
T 10 7@ ¥ AR TE 20 TG F T FET 7 aE
- UR&EE il
(iti) w BT g T HRT IR
(1) @rwisr =fte &t far wr @
(2) wrviyr At =8 R T &1 1
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v IR T § S W § 2 98 ek

s § frg yeR f= § 2 soE e, oy

AR dmelt w1 oAv WA W ity
The following are the figures of sales, cost and profit relating

to a manufacturing unit working at 50% capacity :

Details - - Amount (Rs.)
Sales ' 20,00,000
Direct cost -8,00,000
Factory overheads | 4,00,000
Office overheads 2,00,000
Selling overheads 3,60,000
Profit © 300,000

Evefy :10% increase in sales beyond 50% of capacity ‘is
possible only after reducing the price by 1% -on the base
~ level of 50% cz;pa_city sales. Material cost included in direct
cost at this level is 25%. With évery 10% increase in capacity

 above this level of direct. material comes down by 2%. Factory

overheads at this level are fixed th> the extent of 50% and .

rest are variable. Every 10% increase in output over the present

( 3 ) 770

level results in 2% increase in the office overheads. Selling
overheads as a percent of sales remain constant.

Prepare a budget at 80% capacity level considering the above

" information. .15

ﬁﬂ%@ﬁm@%ﬁﬁmméﬁmw

AR o ¥ ¥ S osow% gEN W wm W W@

% ‘ - -
%rféﬁeﬁ. - @E (%)

forgd , | A 20,00,000
a9y 8,00,000
W SuRemd 4,00,000
Wéﬁéﬂ IR 2,00,000
fot SR ~3,00,000
SIk ‘ ~3,00,000

S0y A Y STUE FH W W TSF 10% o

R 50% &HAT fashl W 1% T T TR A IR
i gy O, T ORR W 25% oAl " s
AT ¥ 10% UF B W 2% HS I Bl WA

P.T.O.
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Safem TE WX R 50% TR ¥ SR 9w aiedei
§| T W W IARA 10% T@d T FEeEd U
F 20 @ gfs B s T T Suiemd fakt &
Sfem @ w9 R owE wa ¥

SEF I H STER W §0% & W TH e

A |
Or
(A=)
(@) From the following data, calculate Activity Ratiq,

(b)

Capacity Ratio and Efficiency Ratio :

A factory manufactures two products ‘A’ and ‘B’.
Standard -time to manuﬁcture product A is 2 hours and
product B is 10_ hours. The budgeted and actual
production in October 2017 was as follows :

Products  Budgeted Production Actual Production

A - 125 Units 100 Units
B ‘ 30 Units 24 Units
Total actual hours worked were 660. ‘ 9 |

State the main distinction between standard costing and

budgetory control. o 6

(

5)

7770

(H)ﬁw%@ama%aﬂwwwﬁfﬁﬁxw,
fHA SAII SR wEem  SrAa w Mo

SIS

TF DRl T IAR A’ SR B TR R

& fefo & wmr w2 92 ¥ ok sam w
‘%Wloﬁ%‘lmﬁwﬁmm

IR 2017 H . f=fafeg o -

A 125 SohTSAT

B 30 gehTgal

W@WWW%OE@W
() e b § e s

|2

Direct Material
Direct Labour
Factory Overheads

Distribution Overheads

General Administration overheads

(% of sales)
Rs.
T
284
126
4.1

1.1

100 SHTSAT
24 THTSAN

~An’analysis of ABC Ltd. led to the following information -

Co_st Element \/Warlable Cost .

Fixed Cost

Rs.

1,89.900
58.400

606,700

P.T.O.
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« 7)) 7770
Budgeted sales are Rs. 18,50,000. You rare required to Or
determine , (31e1a)
(@)  The break-even sales o Calculate Material Variances :

(b)  The profit at the budgeted sales volume Standard mix for production :

(¢)  The profit if actual sales drop by 10% and drop by

Material A : 600 units @ 15 Rs. per unit
5% from the budgeted sales: 15 Material B : 800 units @ 20 Rs. per unit

ABC Ld. & T fawerm § fr=fafes g ww
@

ATE q : ufads e T A

Material C : 1000 wunits @ 25 Rs. per unit

Actual mix for production :

Material A : 640 units @ 20 Rs. per unit
ot =1 %
i Material B : 960 units @ 15 Rs. per unit
Bk T,
- 3 Material C : 840 units @ 30 Rs. per unit
Jag =i : 328 — .
_ . e 1 foerm (Variances) HI TMOAT HIfST
PR 284 — .
o | e 1 AEHIGA
TR Iulem 126 1,89,900 B . g )
: A A : 600 ThTEAl @ 15 % EEOE
faan 3ulRega 4.1 58,400 : ' s
N ~ ; | : HA B : 800 TehIsdl @ 20 %. Ffd sHE
T yeEE 3w Il 66,700 . . .
s . ' | WA C : 1000 FehTgAT 25 T. i T
TS fAE 18,5000 T ¥ 1R s ¥ f i E SRR
(ot 4 , < | ICAGA 1 aIdiaeh (Y0 o
(&) dgem wr fom ' | A A ;640 THEA @ 20 T U IHE
(@) =Toes faw wfmm W oag W B 960 THEEAT @ 15 T WA TR
(®) 3k e fawt s% o gty gl 10% A C : 840 THEA @ 30 T A T

SERCCAe 150 S B

PTO.



A company makes an average profit of Rs. 3.95 per unit op .

a selling price of Rs. 16 per piece by producing 60,~000 units
or 60% of the potential capacity. Its costs of sales per f)iece‘
1S ~ ) | 15
Direct Mqterials Rs. 5, Direct wa-oes Rs. 1.65. Works overhead
Rs. 5 (30% fixed), Sales overhead 0.40 (25% varying).

During the currén_t year, it intends to produce the same number

but anticipates that the fixed' charges will go up by 10%, while

the rates of direct labour and direct material will increase by -

920 ) . . % % 5 .
3.33% and 6% respectively. There is no scope for increasng -

the selling pr.ice due to keen competition. Under this situation,
it obtains from X Ltd. an offer'_for a further 20% of its capacity-

What should be the minimum price to earn a profit of

Rs. 2,15,000.

W AW H 60% AT 60,000 THEA TATAAG FH
16 "6.. a1 wm Ty T 9 3.95 & ofy 3FE

AT W FEA wER § -
TR A 5 T, YoAw HeRd 165 T., E SUN
S 5. 0
- (50% Ter), fast suftem .40 (2506 TREATN

(9 ) 7770

SR a6 B O, T FEE I @ IR @
=g W §1 T R Yew 10% 9 S Seld goe
WSﬁTW&TWEﬁWW: 3.33% 3R 6%
¢ WO REfE & wRo fawa qe ueH
mﬁ%lsﬁaﬂqﬁ&aﬁrﬁ-xmwwr@?ﬁ
%%szo%aﬁwmﬁaﬁlw

er@mﬁﬁﬁw;msoooa q gh ?

Or
RGRED)
A factory has estimated its overheads for the next year at
Rs. 6,00,000. The fact(')ry works 240 days in a’year. It works
for 8 hours a day. The to'tal budgeted production fo.r the year
is 12,000‘units.

Actual data for the month of October 2017 are given as

’under :
Actual Overheads Rs. 54,000
Actual. Oufput 1,060 units
4 hours 7

Idle time

P.1.O
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Calculate :
(g'). O\./erhead cost *variance
(ify ~ Overhead expenditure variance
(7if)  Overhead efficiency Val'iance
(iv) Idle time variance. 15
Th %A 1 AT § 6 o g @ forn s
600000 T. B TH A F B 240 R HH Eacil
BT R R ww owd ¥ ad woaw
TIMEE IEEA 12,000 HEA S

T HHRE, 2017 # Owdafas - oiee e yer &3

I ey ‘ 54,000 &

ELSIEE S o - 1,060 geHTEAl
Tt guy . Fi-c

|
|
|
|

( 1) 7770

(@)  What is meant by divisional performance measurement ?
Describe any two techniques used for this purpose. 8
(b) What is transfer pricing ? What are the methods of .

transfer pricing ? Discuss_in brief. . 7
(31) fgurita freucs sua & suer /& sifawmg § 2
fr=el @ aohAIel & 39 STAN ®g AU HifT

' () 3TaT0T (Transfer) 7{@7{ HT % ? SFR'UT 7

® F TWH § 2 HEY H g S

‘ Or

(31
Division A of XYZ Co. Ltd. has currently a net income of
Rs. 4,00,000 p.a. generated from an investment of Rs. 20 lakh.
The company requires a minimum return of 16% p.a. A new
projeci is being considered by the division manager of A
which will entail investment of Rs. 2 lakh and will yield annual
ﬁet income of Rs. 36,000. Evaluate the préject using :
(/)  ROI method . 8

(i))  Residual income method. 7

P.T.O.
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fedisi A, XYz &. & & o9E TS 31 4,00,000 ‘6..‘
gfa o § foed 240,60,000 % T 1w 16% |
Y Y. dEd &l A % [aurg YeEsd wi @'
=h trfréﬂm ® 99 W@ W@ ¥ e 2,00000 %
A iR EUEED {1@ T -36,600 T. QM1 AR

H AR HIGT
() ROl W& ¥ |
(i) TR I e

7770 12 5,800
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-
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Honours
Name of the Paper : Advertising
Semester b 'V
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :
el & R Ay |
(a) Write your Roll No. on the top immediately
on receipt of this question paper.

T9 UH-9F P U 8N UX sﬂﬁwam
I A o | T

(b) Attempt all questions.
W usl & I A

1. (a) Critically examine the DAGMAR approach
for setting of advertising objectives.
| 8

fasTTs =4t @ Wit = & i DAGMAR
JUNTH Pl SIS S it |

P.T.O.
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(b) "Advertising expenditure in India is

extravagant and socially wasteful". Do you
agree with this statement ? Give reasons
in support of your answer. : 7
‘R @9 AR ¥ werg iR i gt
A IR AF ¥ T W W A ¥ qENd
%7 o SR B WA ® HRor R

OR
HYAT

(a) Discuss the important methods of

determining the advertising budget.

- 8

Remoe ot @ PYEReT &3 B mEE
RfE @ RREmT it

(b) "Advertising is an imperative economic

function in modern business”. Discuss the
objectives and utility of advertising from
the marketers and consumers point of

view. 7
wgﬁzswﬁﬁam@aﬁmaﬁas
mm%l”m%sﬁsﬁaﬂtmmaﬁ

-

RroTRaiatt ol SusEaet @ gite § ST

N REEE BT
2

7777

2. (a) What art the various types of layout

available to advertisers ? Give suitable
examples. 8

 RyETaEaie # Sudew [ = 9@ #

®)

()

JoTee PA-Q ¥ ? IugE IS G
Selection of celebrity as an endorser is an
all time winning creative strategy." Do you
agree ? What could be the considerations
in using an endorser for a fashion apparel
brand 7 7
=y g At & gude ® §9 7 g
wa & o A R el EEes
A B’ T 9 Geua § ? I AAqE AS
3 Rg gad® & A T BFE At W
frEr R o a7
OR
HYQT

What is an Advertising Appeal ? What kind
of appeal would be appropriate for the
following products ?

e oTdie /= o 7 Frefiae SarEt
& e B wer #H otdia SugeE e ?

(i) Fertilisers

IAE
3 P.T.O.
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(ii) Baby Products

farg SO
(iii) Fans
N iC)
Also give a brief headline for any one of

the above product according to the appeal
suggested. 8

e & gEE T oW o ER SugE

Sarl ¥ ¥ 5l s & e G sihs
S

(b) "Advertisement copy is the heart of an

advertisement". Discuss the importance

and elements of a good advertisement copy.

' 7

‘e gRfR s & oged e 21
o= Rsmew oY $ Aew R a«t
= ST |

3. (a) Sﬁggest which advertising media is best
suited for advertising the following
products. (Give suitable reasons) 8

Frefafae sl @ Remow 3 e @99
e SUgeR Fasmas & GasT | (ITGRT BT

)
(i) Car batteries
FR H Tl

(b)

7777

(ii) Herbal Shampoo

e A

(iii)  Refrigerator
WIS

(iv) A new brand of noodles

I=q # T T8 S
What is meant by selectivity, with regard
to the purchase of advertising media ?
Discuss the various ways magazines offer
selectivity to advertisers. 7

faETe "eAw @ @A% B qEg H gIoneAshr
q g T g € 7 S At ad@t @@l
AT ST RFR eie Rsmee satsl 3
T gROTeTRaT SEad BT & |

OR
AT

"The ultimate goal of media planning is to
place the message before the target
audience effectively." In the light of this
statement, develop an effective media plan

for a consumer durable product.
8

5 P.T.O.
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OR
e AT S SIf~aH Ted G281 B AW aTerar
&Y F WA AN F WA @R T FA (a) What are the various post-testing
F THIT ¥ ITNRT e S %R‘R’ TR 1 techniques available to a marketing
AqregH AT e Fhif | | manager to test the effectiveness of the
(b) "To reach to rural markets, marketers advertisement ? 8
need to look beyond the conventional media s # g @ S HE B R Rger
options." Do you agree with the statement ? ' TEeh B IqE A qdEoier as
Why ? 7 H-G & ?
arfor R qg,—,ﬁ RIqUTehe isi il of
- ST (b) How has Advertising Standards Counci
A i 5 %ﬁ; Jenc 32‘3[ o5 | India (ASCI) ensured honesty and
i ‘%TW Rt 3 ¥ ? truthfulness in advertisements ?
SAEGHAl 2 | T AT H HhAA SER { -
w7 ARG #H @I wee 9RwE (ASCI) ¥ R
4, (a) When can an advertisement becq‘me ThT ﬁmq:ﬁm g ?gqurﬁ MR ToafRar &
deceptive ? What are the remedies SRR !
available against deceptive advertising ? §. Attempt any three of the following :
' 8 5,5,5
R &9 9rTE & GhaT & ? WIS s fraffea & ¥ Bt @ 3 SR
3 Pres FPaE 3 BT PA-Y SIT I € ? (a) Types of advertising (Any five)
(b) Define an advertising agency. What are the R B ﬁ;ﬁ (@ dfe)
functions of an advertising agency ? (b) Audience selection.
. ! Nar gIoT
RsTTae Ty & RTST SR | s e
FETHEE T ? , 7 P.T.O.
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(c) Methéﬂs of illustration
JETETOT 1 fafwEl

(d) 'Pr'é‘-testing techniques of measuring
advertisement effectiveness

e & uwiar & oA @@ 9d odR
NCR e

(e) Ethics in advertising -

fsmas & Afeywan

8 » 4200
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